
Maths Assignment

Class-2. (Word Problems)

Example: A woman has 358 sheep and 

204 goats. How many total animals she 

has?

Ans- Statement. H T O

1

No. of sheep    =               3 5 8

No. of goats     =           +  2 0 4

Total no. of animals =  5 6  2

Ans: She has 562 animals .

Solve the following:-

1.A carton contains 34 mangoes and another carton 
contains 25 apples. How many fruits are there in all ?

2.In a birthday party there are 256 boys and 143 girls. 
How many children are there in the party ?

3. In a room there are 26 books and 14 notebooks. 
How many things are there in the room ?

4. In a school there are 153 students in class-3 and 
169 students in class-4. How many students are 
there in these two classes?


